AP Calculus BC — Unit 4, Part 2 Extra Practice

4.5 day 1 - Extra Practice

7\ Evaluate using u-substitution or Reverse Chain Rule (whichever you prefer)
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4.5 day 2 - Extra Practice

Evaluate the definite integral.

N

1
#3b. Ixxll—xz dx
0
-
7 S_u 2 Jy
)

. %27 °
35 (e

dn . 7
Tyo =
du BEA S

oy ="k

W()]\

(= 3)

Se%dd

']

Z:?::fﬂ

A
w =%

o " - JI
7] 72)("’( ns M ,
X = %[“ "A

A = 2d

WU "/':ji,'d‘fl

a "
i (G u-t) 2l

%f_,f‘,//f;z ,
(507 B £ () 300 ﬂ




4.6 — Extra Practice

Evaluate the integral.
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4.7 day 1 — Extra Practice
Evaluate the integral.
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4.7 day 2 - Extra Practice

Evaluate the integral.
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4.8 — Extra Practice

Evaluate:
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4.9 — Extra Practice

Evaluate the integral.
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4.10 - Extra Practice

Evaluate the integral.
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4.11 - Extra Practice

Evaluate the integral or state that it diverges.
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